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1. (What goes up when rain comes down?) \ b\d 3. Trg it! L

Umbrellas!

2. (Which brachah do we recite for three
different mitguos?) The brachah "al
mitguas eiruv" is recited for three

different mitzvos: Eiruv Taushilin, / 4
Eiruvei Chatgeiros, and Eiruvei \ \
Techumin. N N N “ 7

3. (What is the best thing to put into a cake?)

Your teeth. 7

Which two cube formations are |
the same?



You have three broken pieces of a chain, with two
links on each piece. A jeweler tells you that it costs

1 § / $2 to cut through a link and reconnect it. He quotes a

price of $6 to fix the chain. Can you figure out how it
can cost you just $4 to fix the chain? /
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your answers
for a chance

to win! Find our

address and fax
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